50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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1SME42

ester B.E. Degree Examlgétlonf Jan./Feb.2021
Kinematics of Machmery

Max. Marks: 80

Note: Answer any FIVE full questions, choosmg ONE full questwn rom "each module.

a.

b.

a.

B %J«‘ . j
‘Module-1

&

™

Explain : R v
(1) Kinematic chain (i1) Mechamsm (iii) Degrees 6%g“eé/dom (06 Marks)
Explain with neat sketches:{ | 5,
(1) Whit worth quick retum motlon mechanism. (1'

“Té':ggle mechanism. (10 Marks)

Explain :
6] Grubler’s-criterion. (02 Marks)
(i)  Sket ( (09 Marks)
Sketch and explam Pantograph mechams (05 Marks)

followmg Crank OA =200 mm Connectmg rod/AB:: 600 mm; Dlstance of centre of mass
from Crank end AD = 200;mm. At the instant, he crank has an angular,,velomty of 50 rad/s
clockwise and an angular a "’éleratlon of 800 rad/s?” Calculate the %)

(1) Velocity of ¢ D’ and angular veloc1ty of AB. p

(1) Acceleratlon of ‘D’ and angular acceleratlon of ¢ AB, (16 Marks)

& Y
a:

b.

800 mm respechvely Locate all thie I-centres of the mechanism for the position of the crank
when it has turned 30° from tHe inner dead centre. Also find the velocity of the slider and the
angular velocity of the connectmg rod if the crank rotates at 40 rad/s. (10 Marks)
B
-
: ©

Fig. Q4 (b)
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